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@ (x+ 5y)(2x — 5y)(4x* + 25y?)
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@ x1° =x0(x) +R
@ x=(x-1)Q0(x)+R

1000*° = 1001 - Q(x) + R4l 1000 = x 2} 5}H
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x=-12 HUsHE R=1& 7& 5 3ot




16. Al A+ ab,c7fa+b+c=3, a2 +b>+c*>=9, a®>+b*+c3 =24
S 2D o, ot + b + * + 19 FHS F5HH?

@ 69 @70 ® 71 @ 72 ® 73

B \

atb+c=3---O©

2+’ +c?=9---Q

a®+ b 4¢3 =24..-Q o]zt 514,

@4 A
aA+b*+c2=(a+b+c)?-2(ab+bc+ca)=9
9-2(ab+bc+ca) =9

“ab+bctca=0 ---@

@4l A

a+ b+

= (a+b+c)(a®+b?>+ c?—ab - bc - ca) + 3abc
24 =3 (9-0) + 3abc

“abc=-1 ---®

at+b*+ct+1

= (@® + b® + c?)? - 2(a®b® + b2 + ?a®) + 1
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